j % O}{ @3 4eThIpe IpoOu, IeCITUYHbBIE TPOOHU, TOPSIOK
‘ orepanmit

Jara: Orenka:

Nwms:

1 1 1 1
—+2x5+20%x - +5= ——3,4x2-25%x - +5=
3 2 37 2

l7+%x4—§= ;9—13+4xé:

EERE PR e e
%1_%_3X%: 4,3-25%2,6+5-3%3,6=
_+20X%+5_2X_: 3,1-2,8%3+20%x5+4=
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S XD

4eThIpe IpoOu, IeCITUYHbBIE TPOOHU, TOPSIOK

oreparyn
Nwms: Jara: Onenka:
1 1 37 ] 1 1 269 29
L O x5420x-+5=21 -2 L 3 4x2-25% —+5= (-2 = (-8=
3 27305 3 3 37342 B x5 =037) = (8yp)
1 2 121 1 1 2% 1
D T4 x4t =Sl oy 2 9—5344x - = (—2) = (-] —
T34 373 30 9733 dxe=0)=C13)
1 99 19 11 1 5
L RV S A Ll x4-25x ~=5= (=2
2735720 "0 33" “3 g
1 1 34 4 39 I
41—s—3x=0_n" 4.3-25x2. 6+5— — -2y = (-19=
-5 -3xg =m0 325%2,6+5-3x3,6=(-3) = (-195)
2 14 4 197 7
20X e5-2xZ= =0 3.1-2.8x3420x5+d= L —19_
5 5 3 Sl 10 10
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